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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 667 11.9 4.5 24 49.8 100

SPaG 665 3.2 1.4 5 63.5 99.7
2 667 11.9 4.7 24 49.7 100
3 667 11.8 4.7 24 49.1 100
4 667 12 5 24 50.1 100
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Answer all questions.

1.	 Study the information below and answer the questions which follow.
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An empty tomb

	 (a)	 Describe the resurrection of Jesus.	 [4]

	

	

	

	

	

	

	

	

	 (b)	 Explain why Christians believe in life after death.	 [4]
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	 (c)	 Explain how Christians might celebrate Easter.	 [4]

	

	

	

	

	

	

	

	

	 (d)	 ‘Funerals are a time of celebration.’

		  Do you agree or disagree? Give two reasons for your answer.
		  (You must include reference to religious beliefs in your answer.)	 [4]
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	 (e)	 ‘Christian festivals have lost their religious meaning in Britain today.’

		  Do you agree? Give reasons or evidence for your answer, showing that you have 
considered more than one point of view.

		  (You must include reference to religious beliefs in your answer.)	 [8]

		  Marks for spelling, punctuation and the accurate use of grammar are allocated to this 
question.	 [5]
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Sticky Note
Tends to be a general description of what is believed rather than reasons for the belief being held. Many candidates tended to describe rather than explain. Candidates need to recognise the different demands of the trigger words. L1/1

Sticky Note
The response shows some knowledge but lacks detail. There is no reference to specific people or to a accurate time line. Candidates need to give detail when answering such questions. Seemed the best fit was L2/2



Sticky Note
Two points made. The first is quite well developed so is worth 2 marks. The second is a little more general and needs more development for the second point. L3/3

Sticky Note
The response is very general. The first part could apply to any festival. The last sentence makes a more specific point. So overall, L2/2



Sticky Note
A typical response. Two points arguments are given but there was a lack of justification/evidence for statements made. candidates must ensure that they always given evidence or reasons and not just make assertions. The rubric needs to be followed fully to get the higher levels. Best fit was L2/4.

SPaG - while spelling is sound, there is a lack of punctuation and specialist terms. So best fit High Performance but 4 rather than 5









Sticky Note
The response has some indication of the reasons for Christian belief in life after death, the answer becomes more about what is believed than why believed. Therefore L2/2.  Candidates must be aware of the different demands of trigger words.

Sticky Note
A brief answer.  Really only an elementary statement. Limited response. Therefore can only be L1/1



Sticky Note
Two points but there is little, if any reference, to religious beliefs in the answer. Therefore, it was felt that the best fit was L3/3. Candidates must include some reference to religious beliefs in at least one of the points they make.

Sticky Note
The answer becomes rather general. There is not a great deal that is specific to Easter. Candidates must move beyond general statements to specific, relevant detail if they are to access higher levels in such questions.



Sticky Note
The candidate develops an argument quite well but does not adequately consider an alternative. Therefore, the best fit is L2/4. Candidates need to remember the rubric, '...considered more than one point of view', if they are to access the higher levels.

SPaG - some errors but generally of a high standard, therefore 4 marks.









Sticky Note
A good example of a coherent response.  A range of reasons given and explained. So L4/4

Sticky Note
A good example of a rounded account. Accurate detail and a coherent account so L4/4



Sticky Note
Two appropriate reasons given and developed sufficiently to gain L4/4

Sticky Note
A range of examples given. The term 'Easter' was understood in a wider sense that just 'Easter Sunday' so this candidate gave a number of relevant examples of how Easter might be celebrated.



Sticky Note
A good example of a candidate writing an appropriate response that is focussed on the specific demands of the question. There is recognition of the religious meaning of festivals as well as secular responses. There is use of specialised language and a discussion of the issue, with an attempt at a conclusion. Overall, L4/7

SPaG - while not perfect, the best fit  is High Performance.



(4441-01) Turn over.

4
4

41
0

1
0

0
0

5

5
Examiner

only
2.	 Study the information below and answer the questions which follow.
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Christians believe that God is a loving Father.

	 (a)	 Describe Christian beliefs about The Trinity.	 [4]

	

	

	

	

	

	

	

	

	 (b)	 Explain how Christians might show their love for God.	 [4]
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	 (c)	 Explain why many Christians are against euthanasia.	 [4]

	

	

	

	

	

	

	

	

	 (d)	 ‘What a Christian believes is more important than what he or she does.’

		  Do you agree or disagree? Give two reasons for your answer.
		  (You must include reference to religious beliefs in your answer.)	 [4]
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	 (e)	 ‘It is impossible to love everyone.’

		  Do you agree? Give reasons or evidence for your answer, showing that you have 
considered more than one point of view.

		  (You must include reference to religious beliefs in your answer.)	 [8]
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Sticky Note
An accurate account, but really only makes the points that Christians might pray and follow the Bible. The candidate has written quite a bit but not said a great deal. L2/2

Sticky Note
A limited answer.  A simple statement in the first sentence but not much more that is relevant to the question. Therefore, L1/1



Sticky Note
Some good points made, but tending to be descriptive towards the end rather than explaining the reasons for the attitude being taken.  Best fit was believed to be be L3/3

Sticky Note
The candidate has misunderstood the quote, therefore cannot get any credit. L0/0



Sticky Note
Some appropriate points made, but not really developed. Candidates must develop points by providing evidence and reasons if they are to access higher levels. It would also be good to see greater use of religious beliefs and teachings. L2/3









Sticky Note
A range of ways in which Christians might show their love for God. Each is developed. So L4/4

Sticky Note
Not an accurate response. Has some knowledge but a little confused.  Accurate on the Person of Jesus, mention of the Father and some idea of three in one. So best fit  L2/2.



Sticky Note
Really only one reason given and developed. Candidates need to be reminded that in (d) questions, two reasons must be given. L2/2

Sticky Note
Quite a good response but tends to lack coherence, particularly towards the end. So it was felt the best fit was L3/3. 



Sticky Note
The candidate tries to focus on the specific demands of the question and does provide two points if view. There could be greater use of specialist religious language and religious teaching, so the best fit would seem to be L3/5.









Sticky Note
A coherent account. A range of appropriate ways in which Christians might show their love for God. A good example of how to answer such questions. L4/4

Sticky Note
A good example of a coherent response. There is a general statement, followed by consideration of each of the Persons and then a reference to the oneness of God. L4/4



Sticky Note
Points made but not always developed. It is not clear where one point ends and the second begins. Take first part - up to accepted as a developed point worth 2 while the final sentence is a second undeveloped point. L3/3. Candidates need to be encouraged to clearly separate out the two reasons being given.

Sticky Note
An answer that shows some good understanding. A number of reasons given, but it might be hoped that in responding to such questions there might be some consideration of the concept of sanctity of life. L3/3



Sticky Note
Some relevant points and consideration of different views but not always focussed on the question.  Need to consider those who might have put the biblical teaching into practice. Therefore, best fit was L3/6 
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3.	 Study the information below and answer the questions which follow.
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Wine and Bread for a Eucharist/Communion Service

	 (a)	 Describe a Eucharist/Communion service.	 [4]

	

	

	

	

	

	

	

	

	 (b)	 Explain why Confirmation is important to many Christians.	 [4]
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	 (c)	 Explain the benefits of being a member of a church or chapel community.	 [4]

	

	

	

	

	

	

	

	

	 (d)	 ‘Worshipping God can never be a waste of time.’

		  Do you agree or disagree? Give two reasons for your answer.
		  (You must include reference to religious beliefs in your answer.)	 [4]
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	 (e)	 ‘Christians should attend church or chapel.’

		  Do you agree? Give reasons or evidence for your answer, showing that you have 
considered more than one point of view.

		  (You must include reference to religious beliefs in your answer.)	 [8]
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Sticky Note
One point is developed.  Therefore an accurate explanation but not sufficient for more than L2/2

Sticky Note
Given L2/2- elements of the service are given but the overall answer is general. There needed to be something on the words that might be spoken when the elements are distributed and how the elements might be distributed. To gain the higher levels there needs to be more emphasis on the Eucharist/Communion elements of the service.



Sticky Note
Candidate has not read the statement carefully  or not  understood it. Is not answering the question. L0/0

Sticky Note
Limited response. Just the one benefit being explained. Not much religious language. L1/1



Sticky Note
The response is slightly repetitive and points that are made not developed sufficiently. There needs to be evidence and reasons given for statements made. L2/3









Sticky Note
An elementary statement.  'True' commitment being understood as 'own commitment.' L1/1

Sticky Note
The candidate focuses on the question and on the Eucharist/Communion. There is reference to the elements, words spoken and how the elements are shared. There is also reference to 'thanks'. Overall worth a L4/4.



Sticky Note
First point seems well developed - God will always hear prayers, praying being part of worship.  The second, implying that worship (prayer) might be a waste of time , is valid but not really clearly expressed and could be considered a little confused.  L3/3

Sticky Note
The response shows some understanding of some of the benefits but seems a little repetitive. The final point seemingly similar to the first. Therefore, L3/3



Sticky Note
Expanded justification of one point of view with adequate recognition of alternative. However, it does not appear to be a thorough discussion. Some of the points made could be further developed. L3/6









Sticky Note
Tends to be a little general - there could be more made of the link to infant baptism and the accepting of the vows for themselves. The final sentence is a little general. L3/3

Sticky Note
A description of some of the main elements of a Eucharist/Communion service but there could be more detail (e.g. what is said). Towards the end, the response tends to move away from a description of the service to explanation. Best fit L3/3



Sticky Note
Really only two simple points made.  The first is about 'God is always with them' which is not really developed. The second, or possibly a development of the first, is 'guide you'.  So cannot go beyond L2/2 since only two undeveloped points or one developed. Need to emphasis that two developed reasons need to be given.

Sticky Note
Focuses on some of the benefits but seems quite general and does not really use religious language and terms extensively. L3/3



Sticky Note
There is an expanded justification of one point of view in the first part and adequate recognition of an alternative/different point towards the end. So L3/6.
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4.	 Study the information below and answer the questions which follow.

Christians often look to Jesus’ teaching for guidance on how to live.

	 (a)	 Describe Christian attitudes to divorce.	 [4]

	

	

	

	

	

	

	

	

	 (b)	 Explain Christian attitudes to homosexuality.	 [4]
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	 (c)	 Explain why conscience is important to Christians.	 [4]

	

	

	

	

	

	

	

	

	 (d)	 ‘The Bible is out of date.’

		  Do you agree or disagree? Give two reasons for your answer.
		  (You must include reference to religious beliefs in your answer.)	 [4]
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	 (e)	 ‘Sex before marriage is always wrong.’

		  Do you agree? Give reasons or evidence for your answer, showing that you have 
considered more than one point of view.

		  (You must include reference to religious beliefs in your answer.)	 [8]

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

END OF PAPER
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Sticky Note
Again, an accurate explanation of an attitude but not always fully developed and there is no reference to the range of attitudes within Christianity. L2/2

Sticky Note
A relatively accurate description of an attitude but lacks specific detail of religious attitudes and the differences found among Christians. L2/2



Sticky Note
A good response. Two reasons are given. The second one is particularly full. L4/4

Sticky Note
Quite a good explanation but without the extensive use of religious terms and language to take it to the highest level. There is also a degree of repetition. Therefore, the best fit is L3/3



Sticky Note
The response is a little repetitive and there is a lack of discussion of religious ideas and teaching. Therefore, best fit is L2/4.









Sticky Note
A reasonable explanation for one attitude but the questions is asking for 'attitudes'. There is a need to show an understanding of different attitudes to gain the highest level. L3/3

Sticky Note
A sound answer comes over as a little general. It could be more specific and try to make reference to the differences among denominations, particularly those that believe that divorce is always wrong. The candidate is really only describing one attitude. L3/3



Sticky Note
This was given L3/3. There is a developed point in the second half - morals are relevant and teach what is right and wrong. The first part is just a little general - it could have done with an example of a situation in order to support it. 

Sticky Note
Quite a good explanation but it was felt that it was a little repetitive. The first and third sentences are making the same point. So the best fit seemed to be L3/3.



Sticky Note
Some relevant points but not a great deal of reference to religious teaching. Therefore, cannot really access higher levels. L2/4









David
Sticky Note
Marked set by David

Sticky Note
This question asks for an explanation of attitudes (plural). It would be hoped that candidates might show some understanding of the range of attitudes within Christianity. This response only explains the one attitude. Therefore L3/3.

Sticky Note
This is a describe question and asks for attitudes (plural). This candidate describes quite well does not really demonstrate a knowledge of the range of attitudes within Christianity. The last sentence could do with some more development. L3/3



Sticky Note
There is a need to identify two points relevant to the statement. The first seems to be saying that the Bible is not out of date since it is still used.  The next bit does not really take the point much further and seems a little irrelevant. The final point, on the extension sheet, is concise, relevant and could be seen as developed. L3/3

Sticky Note
A coherent answer that explains a number of reasons for the importance of  conscience. Worth L4/4



Sticky Note
Quite a good answer.  There is a good use of religious language and a good explanation of reasons against  sex  before marriage. There is also some discussion of an alternative but this point of view is not always backed up by evidence or reasons. So the best fit seemed to be L4/7
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GCSE RELIGIOUS STUDIES 
 


4441/01 - CHRISTIANITY 
 


Mark Scheme - Summer 2014 
 


 
Q.1 (a) Describe the resurrection of Jesus. 
 
  Look for a rounded account of Jesus’ resurrection. Details that could be 


described include: 
 


 On the third day 


 Empty tomb 


 Who went to the tomb 


 What was seen 


 What was said 
   AO1 [4] 
 
 (b) Explain why Christians believe in life after death. 
 
  Reasons which might be explained include: 
 


 Resurrection of Jesus 


 Teaching from the Bible (e.g. ‘I am the resurrection and the life’.) 


 The eternal nature of God’s love. 


 The need for justice - reward for those who have been righteous and 
punishment for sin. 


 To give meaning to life 
    AO1 [4] 
 
 (c) Explain how Christians might celebrate Easter. 
 
  Look for a detailed account of Easter celebrations. Details that could be 


developed include: 
 


 Special church services 


 Wearing of white 


 Easter processions 


 Giving of Easter eggs 


 Construction of Easter gardens 


 Easter breakfast 
    AO1 [4] 
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(d) ‘Funerals are a time of celebration’. 
Do you agree or disagree?  Give two reasons for your answer. 
You might include reference to religious beliefs in your answer. 


Reasons that could be given include: 


 Funerals are means of bringing to those present the hope of eternal life in
the presence of God in heaven


 Funerals are when mourners can be comforted by the belief that the loved
one will be resurrected and enjoying eternal life


 Funerals provide an opportunity to celebrate and give thanks for the
deceased person


 Funerals provide hope for those left behind in their sorrows


 Funerals should provide opportunity for grieving and that the focus should
not be joy and celebrating


 The circumstances of the death may be tragic - how could there be any
joy or celebration in such circumstances


 Funerals are a time of sadness and loss
AO2 [4] 


(e) ‘Christian festivals have lost their religious meaning in Britain today.’ 
Do you agree? Give reasons or evidence for your answer, showing that 
you have considered more than one point of view. 
You must include reference to religious belief in you answer. 


Marks for spelling, punctuation and the accurate use of grammar are 
allocated to this question 


The following points could be considered and evaluated: 


 Many festivals have become commercialised and have lost their true
meaning


 many people are not Christians or Christian in name only and therefore
the Christian significance of festivals is not important


 It is the holiday which is important to many people and not the reason for
it


 Many do not know about the events behind the festivals and so the
festivals themselves have become devoid of meaning


 The festivals are still celebrated in religious ways by many people so they
must remain meaningful to those people at least.


 Television still has programmes that express the Christian nature of the
festivals so the religious meaning must be seen as relevant to people
today


 The festivals still proclaim Christian teaching which is acknowledged by
many people.


 People’s knowledge of the Christian religion is very often limited to
festivals - which is the only part of Christianity which is meaningful to
many in Britain today.


 The Christian belief in the need to help the poor and needy is shared by
many at Christmas time.


AO2 [8] 
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Q.2 (a) Describe Christian beliefs about the Trinity. 
 
  Look for a rounded account of Christian beliefs about the Trinity. Details that 


could be described include: 
 


 Christian belief in one God 


 God is three distinct persons 


 The Trinity is God the Father, God the Son and God the Holy Spirit 


 God the Father - creator and sustainer 


 God the Son - Jesus, God incarnate, divine and human 


 God the Holy Spirit - God present in the world 
 
    AO1 [4]  
 
 (b) Explain how Christians might show their love for God. 
 
  Look for a detailed account of ways in which Christians might show love for 


God. There are many ways and all correct ones must be credited. Details that 
could be developed include: 


 


 Worship - either public or private 


 Celebrating festivals 


 Taking parts in rites of passage 


 Pilgrimage 


 Becoming a member of a church or chapel 


 Supporting those in need 


 Keeping the rules God gives 
 
    AO1 [4] 
 
 (c) Explain why many Christians are against euthanasia. 
 
  Reason which might be explained include: 
 


 All human life belongs to God and only he has the right to take it away 


 Euthanasia is the killing of a human life and so breaks the commandment 
‘Do not kill.’ 


 Euthanasia is not necessary since the Hospice Movement provides a real 
alternative to dealing with pain at the end of life. 


 Christian belief in the sanctity of life 


 It cannot be loving to end a person’s life.  It is more loving to look after a 
person 


 Jesus healed people 


 No one should decide whether a person lives or dies 


 Only God should decide who lives and dies 
 
    AO1 [4] 
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(d) ‘What a Christian believes is more important than what he or she does.’ 
 Do you agree or disagree? Give two reasons for your answer. 
 You must include reference to religious beliefs in your answer. 
 
 Reasons that could be given include: 
 


 Relationship between ‘faith’ and ‘works’, ‘motive’ or ‘consequence’ 


 Does the belief or motive matter if the result is good? 


 ‘By your fruit will you be known’, which suggests that what is done matters 


 In the Parable of the Last Judgement,  it is good actions that bring rewards 


 James says ‘so faith apart from works is dead.’ 


 Action is usually a public manifestation of beliefs 


 Jesus said that it was what was inside a person that matters 


 Justification by faith  
 
    AO2 [4] 
 
(e) ‘It is impossible to love everyone.’ 
 Do you agree? Give reasons or evidence for your answer, showing that you 
 have considered more than one point of view. 
 You must include reference to religious beliefs in your answer. 
 
 The following points could be considered and evaluated: 
 


 Jesus commanded his followers to love all people - he would not command the 
impossible. 


 Jesus showed it was possible - he forgave those who made him suffer 


 It is part of Christian’s responsibility. 


 Christians believe that God can give them the courage and the strength to love 
even their enemies 


 Many people take advantage of other people’s kindness 


 Hatred can be a deep emotion and the result of horrific experience 


 Loving people is not always easy - their attitude and actions make it very difficult 


 We should love those who love us and forget about loving enemies 


 Although it is difficult,  it is not impossible. some people have succeeded. 
 
    AO2 [8] 
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Q.3 (a) Describe a Eucharistic/Communion service 
  
  Look for a rounded account of any Eucharist/Communion service. The  details 


will vary depending upon the denomination that may have been studied. 
  Details that could be described include: 
 


 The elements of the service that the Eucharist/Communion might be 
part of 


 The words spoken before the distribution 


 Words over the Bread 


 How the Bread is distributed 


 Words over the wine 


 How the Wine is distributed 
 
    AO1 [4] 
 
 (b) Explain why Confirmation is important to many Christians. 
 
  Reasons which might be explained include: 
 


 Second half of baptism 


 Public act of commitment 


 To make someone a full member of the Church 


 It is a sacrament  


 Bestowal of Holy Spirit 
 
    AO1 [4] 
 
 (c) Explain the benefits of being a member of a church or chapel  
  community. 
 
  Points that could be developed include: 
 


 Fellowship and friendship 


 A sense of purpose 


 A sense of belonging and identity 


 Framework for decision making 


 Comfort and support 


 Spiritual fulfilment 
 
   AO1 [4] 
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 (d) ‘Worshipping God can never be a waste of time.’ 
  Do you agree or disagree? Give two reasons for you answer. 
  You must include reference to religious beliefs in your answer. 
 
  Reasons that could be given include: 
 


 Rather than spending time worshipping someone who might not exist, 
time would be better spent on those things that make a difference to life 
now  


 Should be spending time helping people rather than worshipping 


 Whether worship is a waste of time depends on mind-set of worshipper 


 Even if God is not real, worshipper might gain some ‘psychological’ 
benefit  


 Worship might inspire a person to help others 


 ‘Forced’ worship might lead to resentment and rejection of religion 


 Human beings were created to worship. 


 Worship involves caring for others not just what happens in a service 
 
    AO2 [4] 
 
 (e) ‘Christians should attend church or chapel.’ 
  Do you agree? Give reasons or evidence for your answer, showing that  
  you have considered more than one point of view. 
  You must include reference to religious beliefs in your answer. 
 
  the following points could be considered and evaluated: 
 


 The church or chapel is the house of God 


 The church or chapel is the meeting place for Christians 


 The church or chapel is designed to facilitate worship 


 Christianity is a communal faith - the Body of Christ 


 Worship in a church or chapel will strengthen and inspire 


 Worship in a church or chapel will make God’s presence real 


 Fellowship 


 God is omnipresent so can be worshipped anywhere  


 Christians hold services in places, e.g. schools, sporting arenas etc. 


 Some people might not be able to attend a church or chapel 


 There are many forms of worship - not all need a building 
 
    AO2 [8] 
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Q.4 (a) Describe Christian attitudes to divorce. 
 
  Look for a rounded account of Christian attitudes to divorce. Details that could 


be described include: 
 


 Divorce is not recognised by some Christian denominations 


 Annulment 


 Some churches accept divorce as a last resort 


 Divorce is seen as undermining the sacred nature of marriage 


 People make mistakes and therefore divorce might be necessary 


 Jesus was against divorce but did say that unchastity was grounds for 
divorce. 


 
    AO1 [4] 
 
 (b) Explain Christian attitudes to homosexuality.  
 
  Points that could be developed include: 
 


 Some biblical passages seem to condemn homosexuality  


 God created human beings as male and female to be together 


 The purpose of sex is to procreate 


 Inclination and practice 


 Bible is culturally conditioned so should not be used to condemn loving 
relationships in the modern world 


 Love is love 


 ‘Homosexual acts are not wrong since the question of any homosexual  


 relationship is ... to be assessed in the same way as heterosexual 
relationships.’ (Methodist Conference) 


 
    AO1 [4] 
 
 (c) Explain why conscience is important to Christians. 
 
  Reasons which might be explained include: 
 


 Conscience is the inner voice which tells humans the difference between 
right and wrong 


 Conscience might be identified with the voice of God in humans 


 Conscience is a direct revelation from God to an individual 


 Conscience is the rational decision making ability of humans beings which 
allows informed decisions to be made about moral issues 


 Conscience keeps people on the right track because it makes a person 
feel guilt when they have done wrong 


 Conscience has been identified with the presence of the Holy Spirit 
 
    AO1 [4] 
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 (d) ‘The Bible is out-of-date.’ 
  Do you agree or disagree? Give two reasons for you answer. 
  You must include reference to religious beliefs in your answer. 
 
  Reasons that could be given include: 
 


 Bible written a long time ago 


 Bible written in a different culture 


 Some issues now faced are not mentioned in the Bible 


 Science is now more widely accepted 


 Technology has moved on 


 Cultures change but people remain basically the same 


 Christians might look for principles not specific guidance 


 God’s will does not change 


 The principles Jesus taught are timeless 


 The Bible is the Word of God 


 The Bible is inspired by God 
 
    AO2 [4] 
 
 (e) ‘Sex before marriage is always wrong.’ 
  Do you agree? Give reasons or evidence for you answer, showing that 
  you have considered more than one point of view. 
  You must include reference to religious beliefs in your answer. 
 
  The following points could be considered and evaluated: 
 


 Marriage is the only proper context for sex 


 The purpose of sex is to join the married couple as one and complete their 
relationship 


 Sex is for creating children and children should only be born in marriage 


 Sex is an expression of married love 


 The Bible condemns fornication 


 Pre-marital sex leads to promiscuity 


 It is the nature of the relationship that makes sex right or wrong, not the 
act itself 


 Society has changed and so have expectations about sexual relationships 
 
    AO2 [8] 
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